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Instructions for the students-

o Attempt all the questions from section A.
B. selecting one from each unit and any three

questions

« Solve five questions from section
from section C.
o For section A, each question carries 1.5 marks. For section B, each question carries 8 marks.

For section C, each question carries 15 marks.
Section-A

| The method used to solve the assignment problem is called

(b) MODI method.

(a) Reduced matrix method.
(d) All of these

(¢) Hungarian method.

2. The assignment problem

at only one activity be assigned to each resou

on problem.
(d) all of the above.

(a) requires th rce.
(b) is a special case of transportati

(c) can be used to maximize resources.
le region, then the LPP has

3. If LPP has optimal solution at more than on¢ vertex of the feasib
(b) no solution. (¢€) multiple solutions. (d) None of these

(a) infeasible solution.
4. Feasible region of LPP is always

(b) unbounded. () convex.
of using North-West corner rule t

(d) None of these.

(a) bounded.
o find initial solution to the transportation

5. One disadvantage

problem is
rtation.

(b) it does not take into account the cost of transpo
(d) all of the above.

num numbers of basic solutions are

(a) itis complicated to use.

(¢) itleadstoa degenerate initial solution.

6. In an LPP with m constraints in 7 variables, the maxir

(b) N ©Nepey - @ Memear

s an unbounded solution, then its dual has
d solution. (c) no-feasible solution. (d) multiple solution.

(a) MNemar*
7. If the primal ha
(a) optimal solution. (b) unbounde

8. An assignment problem can be solved by

(a) simplex method. (b) transportation method.

(¢) both (a) and (b). (d) none of these.




9. Branch and bound method divides the feasible solution space into smaller parts by

(a) branching. (b) bounding.  (c) enumerating.  (d) All of these.

10. Idle time on a machine means

(a) idle time of all the machines. (b) time a machine remains idle during elapsed.

(¢) time of last job done on last machine. (d) None of these.

Section-B
Unit-1
1. Show that the set S = {(x1 + X3 + X3): 2x; — Xz + X3 < 4}, is a convex set.

2. Solve the given LPP by Graphical method

Max Z = 4x, + 5x,
subject to constraints are

X 4% 21 2o t+x =1 4 -2x<1 and x;, ¥ 20
Unit-I1
1. Obtain an initial basic feasible solution to the following transportation problem using the VAM
method
D, D; D; D, Capacity
O, | 2 ‘ g l 4 / 6
0, 4 3 2 [ 0 ! 8
O3 0 e 2 , ] I 10
Demand 4 6 8 6

where O; and D; denote i" origin and j" destination, respectively.

2. Five men are available to do five different jobs. From past records, the time (in hours) that each
man takes to do each job is known and given in the following table:

2 9 2 7 |

|
|

6 8 7 6 1 \

4 6 5 3 I

Find the assignment of men to jobs that will minimize the total time taken.




o-phase mett

Max Z= le =%
subject to constraints

2x1+x222. X, +3%, 22, Xy xz?_ﬁ_




s assumed that the item
enance cost incurred at the beginning of

ect to constraints
X2 <2; X X2 0 and integers.

ered matrix

_ pmgrmnﬁng problem by constructing the Hessian bord

2x2 + x3 — 4%,z
' _“?éétfd.‘;?_:dnstraints are
-2x1 —xy + 2x3 =20.




